
SAP ABAP table SCY_PERSON {Subset structure of PERSON}

SCY_PERSON

OTYPE [CHAR (2)]

BUKRS [CHAR (4)]

WERKS [CHAR (4)]

PERSG [CHAR (1)]

PERSK [CHAR (2)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

PLANS [NUMC (8)]

STELL [NUMC (8)]

ANRED [CHAR (1)]

NATIO [CHAR (3)]

LAND [CHAR (3)]

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 SCY_PERSON-KOSTL = CSKS-KOSTL 0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]
 SCY_PERSON-BUKRS = T001-BUKRS 0..N

0..N
T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 SCY_PERSON-LAND = T005-LAND1 
0..N0..N  SCY_PERSON-NATIO = T005-LAND1 
0..N0..N

T778O

MANDT [CLNT (3)]

OTYPE [CHAR (2)]

 SCY_PERSON-OTYPE = T778O-OTYPE 

0..N

0..N

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 SCY_PERSON-KOKRS = TKA01-KOKRS 

0..N

0..N


